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2P + 1 = 2(510510n + 175387) + 1 = 10210201 + 350774 + 1 = 10210201 + 350775
0000010210200 20 2003,5,7,11,13,17000000 10000000
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350795 =5 x 17 x 4127 x 1

oooo
2P + 1 =85(12012n + 4127)
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2P + 1 = 2(510510n + 175493) 4+ 1 = 10210201 4 350986 + 1 = 10210201 + 350987
0000010210200 20 2003,5,7,11,13,17000000 10000000

350987 =7Tx7Tx13x19%x29 x1

oooo
2P + 1 =91(11220n + 3857)

ooooooboOo91ooooOooobOoboooobooooDobDOooDOobDOobooboOooO
good

Q=1754990000
P = 510510n + 175499
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0000010210200 20 2003,5,7,11,13,17000000 10000000
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351083 = 41 x 8563 x 1
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goobOobooo3oboboboooooboboooOobobUobDobDobooobobobDoo
goo
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2P + 1 =2(510510n 4+ 175597) + 1 = 1021020n + 351194 + 1 = 1021020n + 351195

0000010210200 20 2003,5,7,11,13,17000000 10000000

351195 =3 x5 x 13 x 1801 x 1

oooo
2P + 1 = 195(5236n + 1801)
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351243 =3 x 3 x 3 x 13009 x 1

oooo
2P + 1 = 3(340340n + 117081)
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